
NZ467 Rev. 09/08/21

2. Read through entire instruction before beginning assembly and installation.

ASSEMBLY INSTRUCTIONS FOR 10B4608 GOAL ANCHOR WEIGHTS 

1. Unpack all parts and check for damage that may have occurred during shipping.  If damage has occurred, 
notify Kwik Goal immediately.  Lay out all parts.  Remove all cardboard and packaging immediately.  Wet or 
damp packaging may damage contents.

Anchor Weight (4)
(Part# UZ1683)

Rubber Pad (12)
(Part# VZ888-01)

Parts

140 Pacific Drive Quakertown, PA 18951
800-531-4252   Kwikgoal.com

 2021Kwik Goal Ltd. ©

Hardware (Part# JZ278)

7/16” X 2-3/4” Hex Bolt (Part# TZ48)        (2)
7/16” X 6” Hex Bolt (Part# TZ380)         (2)

7/16” Large Flat Washer (Part# TZ422)    (6)

7/16” Lock Nut (Part# TZ47)                      (4)
7/16” Flat Washer (Part# TZ171)     (2)

Ratchet with
5/8” Socket

5/8” Wrench

9/
16

Assembly Tools

3. Peel backing off rubber pad, place on the inside in the center of both sides and top of anchor weights as 
shown.

Rubber Pad

Anchor Weight

All sports equipment must be anchored at all time. Sports equipment must have the proper amount of 
counterbalance weight and be attached in locations stated by Kwik Goal instructions. Do not move sport 

equipment with counterbalance weight attached.  Sports equipment not in use must be diassembled and stored 
in a safe, secure place. Assembled sports equipment should not be left unattended. Do not use any sports 

equipment during the threat of high winds. Sports equipment should be checked for safety on regular basis. Any 
modifications to this or any Kwik Goal product will void any and all warranties.

***CAUTION***



3.  Securely anchor movable soccer goals at ALL times.

4.  Always instruct players, managers, coaches, trainers, teachers, maintenance 
workers and all other personnel who might come in contact with the goal, 
on the safe handling of and potential dangers associated with movable 
soccer goals.

1.  Check for structural integrity and proper connecting hardware before every 
use.  Replace damaged or missing parts or fasteners immediately.

2.  Safety/Warning labels must be clearly visible.

9.  Most of the tip-over injuries occurred when goals were unattended.  Anchor 
or chain one goal to another or to nearby fence posts, dugouts, or any 
other similar sturdy fixture when not in use.  If this is not practical, store 
movable soccer goals in a place where children cannot have access to them.

6.  NEVER allow anyone to climb on the net or goal framework.

5.  Always exercise extreme caution when moving goals and provide adequate 
manpower to move goals of varied sizes and weights.  Movable soccer goals 
should only be moved by authorized personnel.

8.  Remove nets when goals are not in use.

7.  Movable soccer goals should only be used on LEVEL fields, NEVER on a slope 
or hill area.

10.  Fully disassemble goals for seasonal storage.

READ CAREFULLY
IMPORTANT GOAL SAFETY INSTRUCTIONSWARNING

140 Pacific Drive Quakertown, PA 18951
800-531-4252   Kwikgoal.com

 2019 Kwik Goal Ltd. © NZ467 Rev. 09/08/21



4.  If net is already attached, unclip net from back bottom bar or crossbar.  Set anchor weight over back 
bottom bar or crossbar at four evenly spaced locations as shown.  Clip net to goal as close to the 
anchor weight as possible.

Bottom Bar or Crossbar

Anchor Weight

Anchor Weight

Anchor Weight

NZ467 Rev. 09/08/21

All sports equipment must be anchored at all time. Sports equipment must have the proper amount of 
counterbalance weight and be attached in locations stated by Kwik Goal instructions. Do not move sport 

equipment with counterbalance weight attached.  Sports equipment not in use must be diassembled and stored 
in a safe, secure place. Assembled sports equipment should not be left unattended. Do not use any sports 

equipment during the threat of high winds. Sports equipment should be checked for safety on regular basis. Any 
modifications to this or any Kwik Goal product will void any and all warranties.

***CAUTION***



4.  If goal overturns during application of force or does not return to an upright position after removing force, an 
alternate anchoring system must be used

1. Clear all persons from a minimum 50 foot radius surrounding the goal.

3. Apply a horizontal pull force of 247 lbs. to the center of the crossbar for 60 - 70 seconds.
 Full safety precautions must be taken while performing test.

ANCHOR TEST

2. Verify goal is attached to anchors according to instruction.

5. After installing, test as described below to verify effectiveness of anchor system.  If applicable, allow concrete 
to fully cure before testing.

NZ467 Rev. 09/08/21

Crossbar

247 lbs.

All sports equipment must be anchored at all time. Sports equipment must have the proper amount of 
counterbalance weight and be attached in locations stated by Kwik Goal instructions. Do not move sport 

equipment with counterbalance weight attached.  Sports equipment not in use must be diassembled and stored 
in a safe, secure place. Assembled sports equipment should not be left unattended. Do not use any sports 

equipment during the threat of high winds. Sports equipment should be checked for safety on regular basis. Any 
modifications to this or any Kwik Goal product will void any and all warranties.

***CAUTION***

Go to kwikgoal.com for additional product information.


	Page 1
	Page 2
	Page 3
	Page 4

